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NS6-7: Dn"ferences from 10 to 10 000 | - page 41
1. Write “10 more” “10 less”, “100 more” or “100 Iess in the blanks

a). 70 is than60 - = b) 500is __ . than 600

c) 40is k than 30 " d) 100is _than 90

2. Write “100 more”, “100 less”, “1 000 more”, or “1 000 less” in the blanks _
a) 1000 is ' than 2000 b) 14000is B " than 15 000

c) 5900is ____ than 6000  d) 70000is than 69 000

3. -Write_ “1000 more”, “1000 less”, “10 000 more”, or ‘f10 000 less” in theblanks.»

a) 7000is | -._than6000 - = b) 13000 is . B than 14000.
c) 40000is__ _than'50000 . 'd) 60000is than 50 000
.e) 8000is. N than7000 - f) 40000is ] than 39 000

4. Write “10 000 more”, “10 000 !ess”, “100 000 more”, or “100 000 less” in the blanks.

a) 200000 is : than 100000  b) 70000 is ’ than 80 000
c) 160000is - . than 150000 d) 400000is _ than 500 000
e) 190 000 is . " than 200 000 f) 800000 is ~___than 900 000

5. Circle the'pair of digits that are different. Then fill in the blgn_ks. :
2) 385237 b 291375 o 143 750"

395237 291475 133750
385237 is__10 000 less 291375 is - 143750 s
than 395237. . ~ than 291475. than 133750.
9 522508 o 96405 5 3752582
‘532508 | 96415 . 3751582
3 522 508is 96405is_____ 37525821s.
than 532 508. ~ than96415. . than3751582.
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NS6-7: Differences from 10 to 10 000 (continued) page 42
Fill in the blaﬁks. |
. a) - ' is 10 more than 3782 b) i is 100 less than 39 927
) s 100 more than 3782 N is 1000 less than 15023
e) ' | is 10 000 hore than 287 532 f)l __ | ié 1000 less tha.n‘ 23685
q) . is"10000 more than 8305 h) - .is 100000 more than 4253
i) - 5100000 less than 273 528 |) _ . 510000 less than 178253
7.~ Fill in the blanks. o
a) 226+10 = ' 'b) 28573+10= c) 39035+10=
d) 42127 +100=___ ¢) 63283+ 1000 = | f) 58372+10000—
§) 2873210 = h 485-10=_ ) 837—100 =
j) 324871000 = | :, k) 81 901100 = ) 25836 ~10000 =
m) 382507 + 10000 = _ " n) 1437652—100000— |
Fill in the blanks. - ‘
a) 685+ _ =695  b) 302+ = 402 c) 2375+ =2385
d) 2617 + .. _=2717  €) 43'210_+ =44210 f) 26287+ . =26387
9) 1287 - =1187 h) 6325— =6315 i) 14392- = 14202
D) 386053 - = 376'053" k) 1260053 + 1000 =
BONUS
9. Continue the number patterns. 4
a) 6407, 6417,6 42, b) 46 640, 47 640, 48 640, -
). 624623, 624 833, ,624853  d) _ 28393, 28 403, 28 413

10. Circle the pair of digits that are different. Then-fill in the bléhks._ :

a) 827 325 by 382305 9 925778
827 335 482305 915778
827 325 is_ 10 - is : L is
less thé“ _827335 greater than less than , '
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